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1. Discuss the dramatic significance of the Elephant episode
as presented in the 1st Act of Abhijnāna-Sakuntala . 6

x!¦þKþy˜Ÿ„%þhsþœ ˜yÝþöì„þîû 1› xöìBþ öë £hßþ# î,_yöìhsþîû vþzþ™ßþiyþ™˜y
„þîûy £öìëûöìŠé “þyîû ˜yÝþ„þ#ëû “þyêþ™ëÅ xyöìœy‰þ˜y „þöìîûyÐ

Or / xíîy

a) o¡FÎÛF ÜFõÜF ÑF]ÞXæFbèFW ÜF]…+àÑFPÛF¼k ¶FæF—

ÑF]·FÛFWæFk;F]µFXÑFW¶Fk ˜F=e+æFP¶FaÎFÛFFÑFÐ]Pùÿp

Who said this? What is the significance of this
statement? 1

2 +2=2 1
2

ö„þ ~£z „þíy îöìœ!Šéöìœ˜Ú vþz!_«!Ýþîû “þyêþ™ëÅ !„þÚ

b) oÞF¡FÎFh, EFêFÛFÛF_;FXNÜFk ÎF ùÎ¶FæÜFX ÎF ùÎ¶FæÜF:—p

Who said this? Discuss the dramatic significance of
the statement. 1

2 +3=3 1
2

ö„þ ~£z „þíy îöìœ!Šéöìœ˜Ú vþz!_«!Ýþîû ˜yÝþ„þ#ëû “þyêþ™ëÅ xyöìœy‰þ˜y
„þöìîûyÐ
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6. Scan and name the metres in any two of the following.
2×2=4

S˜#öì‰þîû öë ö„þy˜ ”%!Ýþ ‰þîûöì’îû †’!î¦þy† „þöìîû Šéöì̈ îû ˜y› öœöì…yÐV

a) ÎF &FáF] ÎF &FáF] ÙFFµF: õFPÎÎFÑFF¶ÜFXNÜFÛFPõÛFÎFh

ÛF_¼]PÎF ÛF_;FèFÞUÞW ÑF]ðÑFÞFèFFPæFæFFP;FÐ:—

b) ;FeUæFÚF‘~£FFPÚFÞFÛFk ÛF]CÞÎF]ÑF¶FP¶F õÜFÎ¼ÎFW ¼¸FËPñ:

ÑFëFFÍFWaÎF ÒPæFñ: èFÞÑF¶FÎFÚFÜFF¼h ÚF[ÜFõFF ÑF[æFa=+FÜFÛFh—

c) æFF˜Fk ÎF PÛFêFÜFP¶F ÜFÃPÑF ÛFÂ˜FXPÚF:

=+µFb ¼¼F¶ÜFPÚFÛF]&Fk ÛFPÜF ÚFFðFÛFFµFW—

2. Translate into English or Bengali : 4

S £z‚öìîû‹# îy îy‚œy ¦þy¡ìyëû x˜%îy” „þöìîûyÐ V

õF]ÚF;FõFPáFáFFæF;FFùF: ÑFF©áFõFkõF;FaõF]ÞPÚFæFÎFæFF¶FF:—

Ò˜šFÜFõF]áFÚFPÎF½F P¼æFõFF: ÑFPÞµFFÛFÞÛFµFUÜFF:ÿ

E»FæFF

ÞÛÜFFõ¶FÑFXÍFÎFFÎFFk ÒP¶Fù¶FPæFfFÐF: P=e+ÜFF: õFÛFæFáFXƒÜF—

£FFõÜFPõF P=+ÜFÆ]¡FX ÛFW Þ‡FP¶F ÛFZæFUaP=+µFF’~ GP¶Fÿ

3. Explain with reference to the context : 5

S ¢²Ì¢D îÄy…Äy „þöìîûyÐ V

G¼k P=+áFFæÜFF¡FÛFÎFXùÞk æFÑF]õ¶FÑF: ‡FÛFk õFFÍFPÜF¶F]k ÜF G˜šP¶F—

ÍFd^æFk õF ÎFUãX¶ÑFáFÑF·FÍFFÞÜFF èFÛFUáF¶FFk šW¸F]ÛF_PðFæÜFaæFõÜFP¶Fÿ

E»FæFF

ÛFFÎF]ðFUðF] =+»Fk æFF õÜFF¼õÜF àÑFõÜF õFÛÚFæF:—

ÎF ÒÚFF¶FÞáFk ¡ÜFXP¶Fß¼WP¶F æFõF]ÍFF¶FãF¶Fhÿ

4. iÜFP¶FP¡FaýWñPæFêFFÛFõ»FFÎFÛFhj– Explain. 3

ÜFP¶FP¡FaýWñPæFêFFÛFõ»FFÎFÛFhéôôôé îÄy…Äy „þöìîûyÐ

5. Define and illustrate any two of the following metres:

S˜#öì‰þîû öë ö„þy˜ ”%!Ýþ Šéöì̈ îû œÇþ’ ç vþz”y£îû’ ”yçÐV 4×2=8

ßP˜FÞF, èFFPáFÎFU, HÑFWÎ½æF¡FeF, æFkèFõ»FPæFãÛFh—

[ 2 ] [ 3 ]


